Note to be added to E-13-P after Table 7
The Calculation of Throughput and Effectivity Index in Table 7 is based on the following method.

Data

Choose the period appropriate to the programme: Academic year (BEng) or semester (BTech, ND) and note the total periods to complete the programme in minimum time. The period marked Current is the period in which the accreditation visit takes place. 
For the current period and the preceding periods not shaded in the table, enter the required data:

Dn = Direct intake (new enrolments, with or without credit) to level n in the period 

Nn = Enrolments a level n in the period

Px = Enrolments in Practical periods for the National Diploma

G(total) = total graduates in the period

G(min) = Graduates (within G(total)) completing in the minimum periods

G(min+1) = Graduates (within G(total)) completing in the minimum plus one periods

G(min+2) = Graduates (within G(total)) completing in the minimum plus two periods

BEng Case
For the BEng the number of periods is 4 years and the throughput measure TP for year x is calculated as:

TPx =    G(Tot)x/[0.333(D1x-3 + D1x-4+ D1x-5) +  0.5(D2x-2 + D2x-3) + D3 x-1]
This is the total graduates in the year divided by the average intake in years that correspond to graduating in the minimum, minimum+1 and minimum+2 time (4, 5 or 6 years)  plus the average of the second year direct intake that could complete in the shortest or shortest + 1 period (3 or 4 years)  plus the direct third year intake who could complete in the shortest time (2 years). 

The Effectivity Index is 

EI x  =  4[G(min) x + G(min+1) x + G(min+2) x]/ FTE x 
This is the number of periods times the graduates in 4, 5, or 6 years divided by the fulltime equivalents in the year in question. A programme with no dropouts and no repeats would achieve an EI of 1.0. 
The TP and EI would be calculated for one and two periods before the period in which the accreditation visit takes place (Curr).

National Diploma

The number of periods is six semesters. Using the principles of allowing up to two years (four semesters) extra to graduate and assuming no direct intake after the third semester, the formulas become:
Throughput measure is:

TPx =    G(Tot)x/[0.333(D1x-5 + D1x-6+ D1x-7) +  0.5(D2x-4 + D2x-5) + D3 x-2]

The Effectivity Index is:
EII x  =  6[G(min) x + G(min+1) x + G(min+2) x]/ FTE x 

Where min + 1 means one semester over the minimum.
BTech

Here the number of periods is two semesters. Allowing one extra year to graduate and assuming that there is direct entry up to 50% of the way through, that is at Semester 2, the formulas become:
TPx =    G(Tot)x/[0.333(D1x-1 + D1x-2+ D1x-3) +  D2x]

Effectivity Index

I x  =  2[G(min) x + G(min+1) x + G(min+2) x]/ FTE x 

